Datenblatt / Data Sheet ANBAUANLEITUNG/MOUNTING INSTRUCTION

EUCHNER

Ansicht B
View

Caution!

Riegel/ Bolt: S-A

Technische Anderungen vorbehalten, alle Angaben ohne Gewahr / Subject to technical modifications;  no responsibility is accepted for the accuracy of this information. © EUCHNER GmbH + Co. KG E @ MalRe in mm / Dimensions in mm

2096394 - 8 - 31.03.15 - LR - HL - AD - Blatt/sheet 1

Achtung!
Riegel darf nicht in Verbindung mit
einer Fluchtentriegelung verwendet werden.

Bolt may not be used in connection
with an escape release.

Bestell-Nr./ Order No.: 096384

Ansicht D
View

EUCHNER GmbH + Co. KG Kohlhammerstrale 16 70771 Leinfelden-Echterdingen  Tel. +49/711/7597-0 Fax +49/711/753316 www.euchner.de info@euchner.de

40 _ 15 110
20 20
fur Schraube M6/ .
fur Schraube M6/
for M6 screw — I for M6 screw
[ (Ml |
[ (Ml |
(. (N |
7 OI® &
S =2 — 7 fi
G- (@ @ —D ¢¢
< T @
- T -r’\\
N —
o T
«© g DR Loty
. | ! Iy
)o@ fiar Schraube M6/
Lo : for M6 screw
| | :
o] o™ !
SIS o || =B | | _ )
I o Gde Sicherheitsschalter
- 3 . ! STP, STA, SGP, SGA
ce Co Anfahrrichtung A
Coa Sicherheitsschalter
30 Loy separat bestellen.
Safety switch
1 ®De@ « STP, STA, SGP, SGA
o , O]
! Approach direction A
5 (4x)
B Please order safety switch
/@ ! separately.
T Co
fiir Schraube M6/ oo !
for M6 screw I | | |
Schutzgitter-
rahmen (40x40)
Guard frame
CI; ;?\ :ED j/g] Rechts angeschlagene Tur/ 7\

69

N 3 Door hinged on the right
© . \5] \ﬂF‘;__CZZSK
- = —
© [~ _ ]
@ - I I
| -
e — _—
| §
| y
. \L /__ J/,
N /L _ ——
(59) (136) (61)




